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This is by large and this is by small - W2 N7 92NaN2 KT

Overview

The x713 resolved the contradiction between the two conflicting statements of X2
regarding a 2°nd 7% a1 (whether the MY is 111°7 X211 or 1217 nRD*WY 7¥) by saying
"MV XM 27272 Xi1. There 1s a dispute between *"w1 and mo0In as to the answer of
the X7,
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“""w9 explained the s'X7%) answer to mean that by large vessels a 7°no 1% cannot
protect from nni 2aR Nk if the majority of the vessel was broken, and by small
vessels the My°w for not protecting N1 X2 is a puncture 929 RIS —

n1voIN asks:
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And the 59 has a difficulty with >"w75, for the X713 is not giving a size -
= 1929 NO¥IND NIN NN YD 59097 ¥ N1 %2929 9P 29

Which are called large vessels and what is called small vessels, in order to know
by which vessel the M¥°w is 319 R3%13, and by which it requires 1217 nIDW T —

mooin offers his interpretation:
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And it is the view of the "' that by large vessels the My°w is 199 X°Xm3, and by
smaller vessels in which a 329 X°21% is more than 219, then 217 is sufficient —

Mmoo responds to an anticipated difficulty:
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U59u1r 7"721 27212 A"

2 The %"w1nn amends this to read ™y % MWW (instead of ™Mp 72 MYW)

3 According to MmN the largest MW is 117 X*¥m2; in which case the 909 7n¥ will not protect on any >73. However

smaller 2°73 where 1177 R*¥11 is more than 217 they require only 211 and not the larger 173w of 177 X¥¥1m3.

4 The n"21 MAx7 amens this to read, 1217 nreow 7y (instead of 1211 nme W Tv).

5 The statement of X237 that 1217 oW Ty was said in continuation to what he stated previously that 7727 ®°%113 2p7

0171 v and he continues 1217 NRD*w TV °nd TnYh AP orY. In all the 2w of X321 he went in an ascending order;

starting with 1717 ,0°7 7P W ,Apwn 01 ,7pwn XX and finally 1211 oy, indicating that this is larger than 17 X%,

which contradicts the view of NM1901n that 1127 X% is the larger M¥*w more than 1217 nro° (see footnote # 3).

6 X321, when he stated 1217 nno°w TV 121 I OXY, was not referencing all the previous 01w (of becoming 92p%n v

7XMW), and certainly not the Myw of 117 X°¥13, but rather he was saying that even though a 0711 *93 becomes v if

T XXM 2P [it is no longer a °93], however when it comes to 2°n9 1°1¥, a N7 X°X1 is insufficient, the required 1w w

is 1217 (by small 2°%2) [and 1127 XX by large 2°92]. If a n°T ®°¥17 is not 1217 a 2°nd 7nY is still 2°¥», however once it
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And this which X2 stated that a °nd 7°»% protects until the majority is broken;
X217 was not referring to the M of 1727 R°2», but rather to the 2w w of XXM
N7 that a n°1 X°¥n is insufficient if it is less than 1211,

Summary
According to *"w1 by *2727 the M w is 1217 and by W the MY W is PR XXM,

According to m901n it is the smaller of 1217 (by *07) or N»7 XX (by °2727).

Thinking it over
What would be according to *"wn if it was 1217 2p°1 but it was not 17 XXnd;
according to N»OIN?

iS 1277 N9 or A7 XXM 2p°1 (whichever is less) it is no longer 2°xn.
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